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o JEX3.1. O NHMRETT X, & A5
f(2,0) = S(0)h(z)exp{C(0)T'(x)}, 6€O,

b, C(0) k830 WIFRf(2,0), 0 € © HHSHIRHUE.
o EH3.3*. FNHRZIHR, WPy, T(X:) > c) KT0 HifE
7t.
o fI3.1. f(z,0) = jexp{—gz}, 2 >0. © = (0,00).
BX ~ Exp(1), X, £ 6X.
o f13.2. X ~ N(u,0?), 0® B51. 0 = p, © = (—0, 0).
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o SEH3.A. RS ATIR NS R HUR
f(z,0) = S(0)h(x)exp{C(0)T(x)}, 6O€O.

= n
W= {f: ZT(&:Z) > c}
i=1

WPy, (X e W) = o, MW A& 30 i1 {1
HO 0 < 00 « H;: 0 > 90

K17KF Na FTUMP 75 &5k,
° ﬁiiLl‘EﬂEﬁﬁHo 10 =0p > Hy:0 <6y FIUMP 755E 38,
= {Z: 30 T(x;) < ¢}, Hrpe 5P, (X e W) = .
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f13.1. B4k Exp(3), © = (0,00). 6 > 6000(FAL: /NEF) R EHE.
MAF5 AEohls, WAL,
o FRIE. Hy:0 <6y =06000« Hy:0> 0y (Biibdst) ).
o MRANMSIYUR, T'(x) = =, Fik, UMP B

W={£:Zmi>c}.

i=1

i %Ego 7:7 K27L = 22:1:1 X[/HO F 1 X2(27’L) '['H-,h gj}é
Py (X € W) = P(K>, > 2¢/0y) = a.

B, REEX2c/00 = 7 ., (2n), Ble = x3_,(2n) x Op/2.
o Hla = 0.05, ARG 05(10) = 18.307,
Hic = 18.307 x 6000/2 = 54921.
o 3w = 22313 < 54921, WBZ Ho, A RIRINGEITE5L.
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$13.2. X ~ N(u,0?), o? E51(= 1.21), M6 EE.
p= 30 MIEHS. [ BEKF Na = 0.05, &= BLHT?

o PRI Ho:pu < po =30« Hy:p>po. (BFIEREHT).

*] éfﬂiﬁﬁ%?gﬁ]ﬁ f(x /1’) \/270—&672}52 672;21‘260%22.
T(x) =z, Kk, UMP & 2 8JEan

:{f:iizblxi>é}={f:@>c}.

o Hlec = 2z1_q:

Puu(X €W) = Py, (M ~e)=a

o BRI 2095 = 1.65.
RANBHE: VUE00) — 9919 > 1.65, W Ho, 7T Hi !
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%13.3. X ~ N(u,02), p SH1(= 3), MFINEIE.
o < op = 0.005 W&, 1 &K Na =0.05, —EHEH?
o IR, Hy:0? > 02 < Hy: 02 <0’0
o BN BIREE: f(x,0%) = - exp{—52z (z — p)?},

/2

T(z) = (v — p)?, ik, UMP ﬁijwwn

Wz{a?:g(xi—u)2<} { aigi }

=1

o Hle = xZ(n):
- 1 &
Pa(XeW) =Py (J—g Z(XZ- —u)?< c> = o

o BRI =x2,5(9) = 3.325.
FRNEHRE: 0—13 S (@ — p)? = 13.2563 > 3.325, W52 H,.
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Hre /WJ‘EPQO(X eW) = a. W RN HERI7KF Na
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#13.4. X ~ N(u,0?), 0% B4 3R
Ho:p=poe Hi:p#po
7K P Mo B EAR TG 75 1 5.
o BUHBBIREIR: f(.p) =
o T(x) = . fip=po T, X ~ N(po, %), 5455 F o HHFK.
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